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THE WINNING EDGE DEFENCE ACADEMY (WEDA)
SAINIK SCHOOL, CLASS — 6TH
MOCK PAPER - 01 (ANSWERS)

Time: 2 Hrs 30 Min

¥AY: 2 ¢ 30 fA=Te
Sections / eTHTIT Questions / 9T Maximum Marks / 37f&&dd 31&
Mathematics / 3TfOre 50 50 x 3 = 150
General Knowledge / GTHTT AT 25 25 x 2 =150
InteIIigence/ﬂ'{ﬁﬂ'ﬂT 25 25 x 2 =50
English / 3735 OR Hindi / &< 25 25 x 2 =50
Total / Fd 125 300

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates after the completion of the exam.
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SUBJECT - ‘&’ : MATHEMATICS

1. When 30 is multiplied with a natural number and then divided by the same natural number. The
result comes to be -

o 30 1 el wrep T wear & apom foram siar € 3R R 3t wipfos wear @ fsnfaa frar s,
Y aRoTe JTaT s -

a) 30 b) 60 c) 15 d) none of the above

Answer: (a)
Explanation: Let the number be A

30%xA =30
A

AT TSI IEATA E
30%xA
A

=30

2. MMCDLIX is equal to

MMCDLIX fFd& sRIeET &2
a) 2,549 b) 2,500 c) 2,459 d) 2,561
Answer: (c)

Explanation: MMCDLIX
=1000 + 1000 + 500-500+50+1-10
= 2459

3. The sum of two-digit numbers and the number obtained by interchanging its digits is 110. If the
difference between both digits is 4. Find the number.

&Y 37T Y TEATHT T AN9T 3 3TF 3T DT HIH H dElor ¥ YT FEAT 110 ¢ | IS AT 31T & =

&1 3} 4 §, t §&41 A1 FifAw)
a) 73 and 37 b) 46 and 64 c) 82 and 28 d) 55 and 55
a) 73 3iR 37 b) 46 31X 64 c) 82 3 28 d) 55 3R 55
Answer: (a)
Explanation: From the option (a), 73 and 37 %qufﬁ@f, 73 3iR 37

73
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+37

110
So,7-3=4
Now from option (b), the difference of digits is not 4. (37 Tdeed (b) &, 37ehT &l 37T 4 FI@'%’I)
From option (c), the difference of digits is not 4. (Tdeeq (c) H, 37ehl T TR 4 H’?f%l)

From option (d), the difference of digits is not 4. (Tdeeq (d) &, 37ehT &l 37T 4 o‘-l?f%'l)

4. The cost of fencing a square park at the rate of Rs15 per m is Rs3600. Find the area of the square
park.

15 39 9fa #HieT F1 g7 A v TATHER 9Tk Y 913 A3 T A1RT 3600 T & | TR ITh FT &1T6 ol
AT fifaT]

a) 2450m? b) 3600m? c) 1520m? d) 4500m?
a) 2450 g1 Hrex b) 3600 F3T HreT ¢) 1520 T Hrex d) 4500 33T Hex

Answer: (b)
Explanation: Total fence cost = Perimeter x cost Per m

= 3600 =P x 15
3600

> —=P

15
P =240
4 x Side = Perimeter
4 x Side = 240m
side = ? =60m
Area = 52
= (60)? = 3600 m?

el ST3 AT = IR x of1aTe Ui #Hlex

= 3600 = P x 15
> %0 _p
15
P =240
4x Yol = GRIY
4 x YSTT = 240 m

Yol = Z2=60m
TPl =52

= (60)2 = 3600 m?
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5. Find A, if Ax 12.5 =1500

IfE A x 12.5 = 1500 § dY A AT AT

a) 100 b) 120 c) 600 d) 42
Answer: (b)
Explanation: A X 12.5 = 1500
A=20-1%y10=120
12.5 125

6. The LCM of two prime numbers is always their

3 U HENS PTLCM AT ITRT gl e

a) Product b) Sum c) Difference d) Quotient
a) U b) TRT c) 3R d) YIThd
Answer: (a)

Explanation: LCM of prime numbers is equal to their product.
T: U T3 BT Lem I PHHT & SRISR Bldl 8
7. Simplify: 2.222 + 22.22 + 222.2 + 2222

TRABY: 2,222 +22.22 +222.2 + 2222
a) 2234.739 b) 3444.222 c) 2468.642 d) 3241.523

Answer: (c)
Explanation: 2.222
22.220
222.200
+ 2222.000
2468.642

8. The age of three brothers are in the ratio 1:2:3 and the average age of all three brothers is 52. Find
the age of the youngest brother.

T UTSN B ST BT SUT 1:2:3 § 3R FiY WISl F1 3N 3T 52 7 | TIA DI UTS Bt A
I BTl

a) 32 b) 40 c) 26 d) 35
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Answer: (c)

Explanation: Age of 1°* brother = 1x
Age of 2 brother = 2x

Age of 3*' brother = 3x

sumof all ages

Average = 3

52 = 1x+23x+3x
52 X 3 =6x
156 = 6x
20— x=26
6
Age of youngest boy = 26 yrs

q@ﬁuﬁa%‘r&mg:u
@%Hﬁﬂ%ﬁl’{[ﬂx
Wuﬁaﬁ&rrq:w
o erc i G 31 BT INT

3
1x+2x+3x

52 =
3

52 X3 =6x

156 = 6x
156

—_— =X

6

26 =x

T BIC o5ah T 3T = 26 T

9. Convert the ratio 125:350 in its simplest terms.

ST 125:350 | TIEdH © 0 H gf¥afdd He |
a) 4:13 b) 5:14 ¢) 14:5 d) 13:4
Answer: (b)

Explanation: 125 : 350
125 _ 25 _ 5

350 70 14
=5:14

10. How many stones of 0.48m? can be fixed on a wall of length 12m and breadth 14m.

12 Hew @t 3R 14 Hier DS AR WR 0.48m2 P frda TR TITE ST 9 &7

a) 200 stones b) 350 stones c) 420 stones d) 240 stones
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a) 200 YR b) 350 URIR €) 420 R d) 240 IR

Answer: (b)
Explanation: Area of wall=1 X b
=12 x 14
= 168 m?
Number of stones - Areaofwall _ 168 _ 168x100 _ 2100 _ 350
Area of stone 0.48 48 6
AR &1 &% =l x b
=12x 14
= 168 m?
. : _ClARPIETBA 168 _ 168x100 _ 2100 _
R P Ol = ~ 06 = 38 = & = 30
11. What is the valueof 5% +6% -8 %
5%+6%-8%BIAM FTE?
a)3 % b) 5/6 c)1% d)2%

Answer: (a)
. 1 1 1
Explanation: 5-+ 6-— 8-
2 2 4

11 13 33
=2t
LCMof2,2,4=4

_11x2 13x2 33

2x2 | 2x2 4
_ 2242633 _ 15 _ 43
- 4 T4 s

5 4+6-—8-
2 2 4

2,2, 4 BITAHILTH. = 4

_11x2 13 %2 33

2x2 2x2 4
- 22426-33 _ 15 _ 53
y 4 T4 s

12. The cost of 2 cycles are Rs 5500. If Rahul has Rs22000, then how many cycles can he buy?

2 ATl &Y Sad 5500 TUA 31 AT TEA & URT 22000 FUA g, °F 98 frat asferd @ile

ThdT 82

a)a b) 7 c)2 d) 8
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Answer: (d)

Rs3500 _ Rs.2750

Explanation: Cost of 1 cycle =
Rahul has 22000, so 22000/2750 = 8

NWﬁam:@ = Rs. 2750
3 §E %W 22000 %:, RS 3 U 22000/2750 =8

13. Two crore forty three lakhs seventy is written as
AW dAANI TG IR DI fr@rwanrg
a) 2,04,00,700 b) 2,43,00,700 c) 20,43,070 d) 2,43,00,070

Answer: (d)
Explanation:
C,TLL Tthth,HTO
243 00 070

14. Find the greatest number that will divide 47, 76, 83 leaving remainder 1, 2, 3 respectively.

I8 HTH TS| JWT JTd BISTT S 47, 76, 83 B FAUTRIT B R HHT: 1, 2, 3 AT TIA|

a)4 b) 6 c)7 d)2
Answer: (d)
Explanation:
47 76 83
-1 -2 -3
46 74 80
HCF of 46, 74, 80 (46, 74, 80 &I HCF)

2 46, 74, 80

23,37, 40

Ans =2

15. If a square of a number is added to the square of 15, the result comes out to be 901. Find the

number.

gfe Bt T= & T &) 15 & I A ST SITE oY U 901 31T 8 | H&HAT J1d BIHoTY |
a) 26 b) 24 c) 34 d) 16

Answer: (a)
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Explanation:

Let the number be x
x% + (15)? =901
x?+225=901

x2 =676
x =V676 = 26
T T x ¢

x% + (15)? =901
x% 4225 =901

x% =676
x =V676 =26

16. Rohan saves Rs.560 and spends 65% of the total salary. Find the total sum of money he earned?

e 560 TUT T & 3R F& AT BT 65% W Dl ¢ | STA ol fha-t AR ifofa i
a) Rs.1600 b) Rs.2400 c) Rs.3250 d) Rs.4000

Answer: (a)

Explanation: Spending = 65%
Saving = 35%

35% of total money = 560

25 % Total money = 560
100

Total money = 560 X %

= Rs.1600

T = 65%

§9d = 35%

Pl YARTIRI 1 35% = 560

= x P YRR = 560
100

ﬁ %Ff =560 X g
= Rs.1600

17. Sam sells a chair for Rs.420, he makes a loss of 20%. To gain 20%, he must sell the chair at what
price?

U T HAUT 420 TUA A J°AT 8, I/ 20% BT THATH 81T 8 | 20% ATH FHM & forg 3 i fovr
PId W a1 A1 Q?

a) Rs.550 b) Rs.740 c) Rs.630 d) Rs.580
www.wedacareer.com
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Answer: (c)
Explanation: SP = Rs.420

Loss = 20%

[ 100
cP= [100—L%] x SP
_ [ 100

] x 420
100-20
100

=—x420
80

CP =525

SP =CP + Gain%
=525+ [20% of CP]
=525+ % X 525
SP =630

fahd ged = 420 300
BT = 20%
100

CP=[m]xSP

[ 100

]x420
100-20
100

=— X 420
80

SP = CP + @TH%

=525 + [CP T120% ]

=525 +22 % 525 = 630
100

18. A car covers 360 m in a minute. What will be its speed in km/hr?

T BR TP e | 360 Hiew @1 gt 00 Sl 31 571 71l fpeii/der & @n it
a) 15 km/h b) 21.6 km/h ¢) 14.5 km/h d) 20 km/h

a) 15 foHl/der b) 21.6 fdHl/der c) 14.5 fopdt/eer d) 20 fH1/der

Answer: (b)
Explanation: Distance travel by car =360 m
Time taken by car =1 min = 60 sec

Speed of car = Disfance =389 _ 6m/s
Time 60

w2 = 2 kem/h

N 5 5

=21.6 km/h

SATEAT: SR GART T I 318 &4 = 360 HIX
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HR GaRT forT -1 §HY = 1 [AeAC = 60 Hhs
IR T 31Tl = §I/FHT = 360/60 = 6 HICY/Ahs
6 HIeT/Aehg x18/5=108/5 fora/ger =21.6 frHT/ger

19. Find the angle which is equal to its supplement.

T8 PN JTd BT &1 3 RS &b R ¢
a) 45° b) 90° c) 60° d) 75°

Answer: (b)

Explanation: Sum of supplementary angle is 180°
A +B=180°

Both are equal

A+A=180°

2A =180°

A=90°

RS B0 HI AN 180° §
A+B=180°

I RIR E
A+A=180°

2A =180°

A=90°

20. How much water does a cubic swimming pool contain which has a total surface area of 1014m??

TP TR (i ga | faramn urit g) aoar 8 forast oo yiia eawd 1014 Tt e 82
a) 1728m?3 b) 3375m3 c) 2197m3 d) 1000m3

Answer: (c)

Explanation: Total surface Area = 6a2
1014 = 6a?
169 = a?
V169 = a
13 =a
Volume =a
= (13)°
=2197 m3

3
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T o GSII &ABd =642
1014 =6a?
1014 _ g2
6
169 = a?

V169 = a
13=a
3 dT =a?
= (13)°
=2197 m3

21. Convert 35290 Paise into Rs.?
35290 U &1 U A 9cal?
a) X35.290 b) X352.9 c) %0.3529

Answer: (b)
Explanation: 35?;30 |

1
=X352.9

22. The whole numbers and their negatives are called
quf TB13it 3R 3T HBUNHSD B I8

a) Prime numbers b) Natural numbers c) Integers

a) 3THTST =Y b) UIpfa® W& ¢) guifeh

Answer: (c)
Explanation: Integers are of three type,

a) Positive integer - all natural numbers
b) Negative integer — all negative of natural number
c) Zero

CITREAT: qUITEh cfief TR H 81 8,

a) teTTeHe qulieh - G Grepicieh HEATT

b) FUTIcH quiieh - Tl ATehfcieh HEAT & FOTcHH
c) =T

23. Which of the following is divisible by 10 and 5?

www.wedacareer.com
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fufafaa A G o 10 sk s AfAusa 22
a) 5675 b) 37490 c) 4825 d) 84578

Answer: (b)
Explanation: For any number to be divisible by 5 the unit digit is 0,5 and for any number to be divisible
by 10, the unit digit is O.

ot off Twar & 5 A TA8ToT 81 & oI 3a1S 3740 0,5 & 3R fohedT oft Iar & 10 & TSI 81 & forT,
SIS 3R 0T

37490

Divisible by 10 Divisible by 5
10 ¥ faursy 5 faursa

24. Which of the following comes between 1.5 and 2.5?

Fafafea d a9 1.5 8k 2.5 F S emaT 32
a) 1.25 b) 5 c) 1.67 d) 2.7
Answer: (c)

25. Find the greatest common divisor of 1450, 2040, 1400?

1450, 2040, 1400 BT HETH TTd HTSTP JTd D IToTT?

a)2 b) 6 c)9 d) 10
Answer: (d)
Explanation: HCF 1450, 2040, 1400
2 1450, 2040, 1400
5 725, 1020, 700
145, 204, 140

HCF=2x5=10

26. In a school, there were four bells which rang after a time interval of 6 minutes, 18 minutes, 20
minutes, 24 minutes respectively. If they ring together at 12:00 pm, then at what time will it ring
together again?

TP Ipd | IR et A &t wuRn: 6 fire, 18 e, 20 fiFe, 24 fFe & J9g Siov@ & a1
ot fY | 9fe @ 12:00 T TH ATY Fo €, Y A b= A for gy ves A1y Foifl?
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a) 2:00 pm b) 5:00 pm c) 4:00 pm d) 6:00 pm
a) GAlUsR 2 5ol b) RIMTH 5:00 TS ¢) /M 4:00 Fo! d) M 6:00 !

Answer: (d)

Explanation: LCM of 6, 18, 20, 24 (6, 18, 20, 24 sT LCM)

6, 18, 20, 24

3,9,10,12

3,9,5,6

3,9,5,3

1,3,5,1

1,1,5,1

1,1,1,1

LCM =2 x 2 x 2 x 3 x3 x5 = 360 minute (fAs1<)
360

= = 6 hours (G0C)

60
12 00+6=6:00pm

NI WIW[INININ

27. For class decoration, all the students of class 10th contributed a total amount of Rs 4489 such that
each student of the class contributed as much money as the number of students of the class. Find the
total number of students in the class.

F&T BT FolTae $ e, e 1087 S T ST A T 4480 UL BT ANSH 4T, TH UPR F&T H
TP BT A B&T & DI B GGAT & RIER YRR BT ARG AT H&1 d B 9t oo G&H
1d Bifee|

a) 37 b) 73 c) 53 d) 61
Answer: (d)

Explanation: x? = 4489

x = 4489

x =61

28. Time taken to complete work by 5 women is 14 hours. If the number of Women are increased by
2, then how much time will be taken to complete the same work?

5 HigaTST §RT B TRT B # Foran a1 997 14 1 B 1 afe wigans &1 I 2 A 9¢71 &Y o,
Y THT BTH R HIA | foa=11 a9 T

a) 10 hours b) 7 hours c) 8 hours d) 12 hours

Answer: (a)
www.wedacareer.com
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Explanation: m; x d; = m; x ds

5xXx14=7Xd;
14

5X7—d2

d2=10

29. What is the ratio between a kg and a quarter of a kg?

T fHaim 3R U YT fFaiumd & ot &7 3 uTd 1 3?

a)1:4 b) 4:1

Answer: (b)
Explanation: 1 kg = 1000

(Tters) Quarter=$ = 250
1000:250=4:1

30. What is 12% of 15% of 8 kg 500g?

8 fUT 500 TTH P 15% BT 12% FT 22

a) 350g b) 245g

a) 350 UTH b) 245 UTH

Answer: (d)
Explanation: 12% of 15% of 8kg 500g

12 _ 15
= — X — X 8500
100~ 100

= 153g

12% BT 15% BT 8 THUT 500 TTH

12 _ 15
= — X — X 8500
100~ 100

= 1539

c)2:3 d) 3:2
c) 560g d) 153g
c) 560 UTH d) 153 UTH

31. The simple interest at x% for x years on sum of Rs100 will be equal to

100 U B} IR TR x IUT & AT x% B} T A FIYROT TS & SRTER g

a)Sl=x b) Sl = x2

Answer: (b)

PXRXT
100

Explanation: S| =

c) SI=100 d) SI = 100x
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__ 100XxxXx

T 100
2

=x
32. A train of 145m long crosses a bridge of 320m in 31 sec. Find the speed of the train.

145 Hiex ddl TH IS 320 HeX @d YA B 31 s A UR Hal g1 ISt Dt A 19
Pifog|

a) 15 m/s b) 21 m/s c) 18 m/s d)7m/s

Answer: (a)
Explanation: Total distance = Train length + length of bridge
Total distance = 145 + 320 = 465
T=31sec
D _ 465 _

S==-=—=15
T 31

S=15m/s

el T = ST T SISTS + o T olalls
el ol = 145 + 320 = 465
T=318F8 S =2 = 2= 465/31=15 5 = 15 Het/qs

T

33. The angles of a quadrilateral are 110°, 105°, 75° and x°. Find the fourth angle.
TP TGS & BI0T110°, 105°, 75° 3R x° § | AT BT F1d P
a) 65° b) 70° c) 30° d) 120°

Answer: (b)
Explanation: Sum of all angles =360°
110° 4 105° 4+ 75° 4+ x° = 360°

290 + x = 360
x = 70°

g+ BT BT AT =360°

110° + 105° + 75° + x° = 360°
290 + x = 360

x = 70°

34. The length of a plot is twice its breadth, and the area of the plot is 128m?2. Find the perimeter of
the plot.
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TP Wi $I daTg SUD! AISTs A AT g 3R Wile T e 128 ¥ Hlex 71 Wie &1 uRa™
T DT

a) 48m b) 50m c) 62m d) 35m

Answer: (a)
Explanation: [ = 2 b
Areaof plot=1X b
128=2b X b
128 _ b2

2
64 = b?
V64 =b
8=b
l=2b
=2X8=16
Perimeter of plot = 2(L + B)
= 2(16 +8)
=2(24) =48m

1=2b
TATE ST 81Tl = Ixb
TBeT =l X b

128=2b X b
128 _ p2

2

64 = b?

V64 =b

8=b

1=2b
=2X8=16
Wi &1 URHATY = 2(L+B)
= 2(16 + 8)
=2(24) = 48m

35. A cuboidal wooden block contains 36m? wood. If it is 4m long and 3m wide, then find the height?

TP TATHTPR dhS! & SAIh A 36m* dhS! gl TS T8 4m TET 3R 3m ANST §, oY ITP! HATS
TTd PIfoTE?

a)4m b) 3m c)2m d)5m
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Answer: (b)
Explanation: Volume =1 X b X h
36 =4X3Xh

% _p
12
h=3

A=l X b X h
36 =4X3Xh

% _p
12
h=3

36. Solve: 45 kg 100g -35 kg 50 g

BABY: 45 fHUT 100 UTH - 35 fBUTs50 UTH

a)10kg50¢g b) 10 kg c) 10 kg 100g d) 12kg
a) 10 fuT 50 UM b) 10 f&am c)10fpur100 9™ d) 12fku
Answer: (a)

Explanation: Now let us take out difference, 37dX AT Flel T,
45 kg 100g-35kg50¢g

45 100
-35 -50
10kg 50g

37. A tetra pack contains 150ml of juice. How many such packs are needed to fill a jug of capacity 1.51?

TS T 0P | 150mI S 81 1.51 &HAT AT o1 Bt HRA P g VX foraq A &} sma=aswan ghft?

a) 8 b) 9 c) 10 d)6
Answer: (c)

Explanation: 1 Pack = 150 ml

1Jug=151

=1.5x 1000 ml = 1500 ml

Number of packs = % = 10 packs

19 = 150 fycht

1W1T=1.5 51 (o

=1.5x 1000 ml = 1500 ml
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Uobe &l T == = 10 Uhe

150

38. What is the perimeter of a regular hexagon with side 5 cm?

5 At Yerr ATt v Frafia veys &1 ufenmg wn g

a) 24cm b) 30cm c) 15cm d) 67cm
a) 24 94t b) 30 T c) 15 AT d) 67 Tt
Answer: (b)

Explanation: Perimeter of regular hexagon =6 X 5 = 30 cm
AfHd YUYW &1 URAT = 6x5=30 THt

39. Rahul bought 6 kg of rice for Rs 2640. He decided to sell a whole quantity of rice at Rs 330 per kg.
Find the profit or loss percentage.

RTEA 2640 ¥ W 6 forell ara@ @ilar| 39 9rad &1 G UET 31 330 $UA Ul foveft R a9
BT e foan | ary a1 g1+ wia=ra J1a i

a) 20% Profit b) 20% Loss c) 30% Profit d) 25% Loss
a) 20% <Y b) 20% BT ¢) 30% Y d) 25% g1
Answer: (d)

Explanation: Cost Price of 6 kg = 2640
Selling Price of 6 kg =330 X 6 = 1980

Loss = 2640 — 1980 = 660

660
2640 X 100 = 25% loss

6 fonalT T T HeT = 2640
6 fehalm T TashT Hed = 330x6=1980

gl -T = 2640 — 1980 = 660

660

40. Simplify: 3 [ % +4/3 (12 x 5 + 5 x10)]
TRAPY: 3[% +4/3 (12 x5+ 5 x 10)]

a) 160 b) 340 c) 482 d) 564
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Answer: (c)
Explanation: = 3 E +2(12%x 5+ 5% 10)]
= 3[§+§(60+ 5 x 10)]
2 4
=3 [5 +2 (120)]

=3[§+“:;°]=3><43E=482

41. The sum of HCF and LCM of 120, 75 and 40 is .
120, 75 3R 40 P HCF R LM BTAT g1

a) 455 b) 125 c) 605

Answer: (c)
Explanation:

5 120, 75, 40
24,15, 20

HCF=5
LCM of 120, 75, 40 (120, 75, 40 T LCM)

5 |120,75,40
60,75, 20
30, 75, 10
15,75, 5
5,25,5

5 [1,1,1
LCM = 600

Sum / J19T = 600 + 5 = 605 Ans

G WININ

42. Convert 560 dag and 600 g into mg.

560 ST 31X 600 ITH B! iU A 9 |

a) 6200 mg b) 620000 mg c) 62000 mg

a) 6200 AT b) 620000 fHETE  ¢) 62000 eI

Answer: (d)
Explanation: 560 dag
1 dag = 10000 mg
560 x 10000
= 560000 mg
www.wedacareer.com
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1g = 1000mg

600 x 1000 = 600000
5600000 + 600000

= 6200000 mg

560 fa

17 = 10000 fHeiomH
560 x 10000

= 560000

1g = 1000mg

600 x 1000 = 600000
5600000 + 600000

= 6200000 THERIH

43. What is the product of (-1)2 and (-1)37?

(-1)? 3R (-1)*” BT UGS T 8?2
a) -37 b) -1 c)1 d) 37
Answer: (b)

Explanation: (—1)? x (-=1)¥" =1x -1 = -1

44. A motorist at a speed of 65 km/hr covers a distance in 4 hours and 24 minutes. Find the distance
covered.

TS HieX I1aF 65 fordlit/er &) 1fd & 4 69 3R 24 fFie ® ver g 00 o1 g1 99 3t T8 gt
I Q|

a) 320km b) 225km c) 368km d) 286km

Answer: (d)

Explanation: S = 65 km/h

T=4h24minutes=4+ﬁ:3
60 5

=4+04

=44h
D=SXT=65x%X4.4=286km

Bd: S = 65 fpHI/deT
T=4‘a'%24ﬁ|:|‘r:=4+2—‘;=§
=4 +0.4

—44h
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D=SxT=65Xx 4.4 =286 foH

45, Find the length of a train which crosses a bridge of 160m in 18 sec at a speed of 54 km/hr.

TP YIS D T3 J1d DIoTe o 54 forwi/eer &t 1fd & 160 Hiex o Yo 1 18 AHs T IR
CIGikd

a) 110m b) 200m c) 220m d) 120m

Answer: (a)

Explanation: D = Length + 160 m
T=18sec

S =54 km/h =54 x(5/18) = 15 m/sec
=15 m/sec

D=SXT

x+160 =15x%x18

x4+ 160 =270

x=270—-160

x =110

D = ETS + 160 HIeX
T=18qdhs

S = 54 fopdi/der

= 15 fpHl/Adhs
D=SxT
x+160 =15 x 18
x + 160 = 270

x =270 — 160

x =110

46. Name the angle which is more than 180° and less than 360°.

IE BIVT IA15T Sl 180° A 3P dYUT360° A BT B

a) Straight Angle b) Complete Angle c) Reflex Angle d) Obtuse Angle
a) ST HIOT b) gui HIoT ¢) ufdad BT d) 31 B
Answer: (c)

47. The length of a rectangle is increased by 20% and breadth is decreased by 20%. What will be its
effect on its area?
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Th 3T B! TaTS 20% T <1 STl 8 3R HSTE 20% °eT &Y STl 8 1 SHPT IHP TP d U T
U UST?

a) Increased by 4% b) Increased by 20%
c) decreased by 4% d) Decreased by 20%
a) 4% @1 gfx b) 20% BT (G

c) 4% B HHI g8 d) 20% 1 HH
Answer: (c)

Explanation: Let the length be 100 units and breadth be 100 units
Original area = 10000 units

New length = 100 + [(20/100) x 100] =120

New breadth = 100 — [(20/100) x 100] = 80

Area =120 x 80 = 9600

Change in area = (400/10000) x 100 =4 %

SITEIT: ATAT oI&TS 100 31s 3R TISTS 100 3 §
T 81Tl = 10000 $hTS

oS SaTS = 100 + [(20/100) x 100] = 120

TS TSt = 100 — [(20/100) x 100] = 80

&19%el = 120 x 80 = 9600

&%l 7 IRdde = (400/10000) x 100 = 4 %

48. Arrange the following into ascending order:

frraferferd @1 Mgt ®a # srafRua #3

45900, 45999, 45990, 45090, 45909

a) 45090<45900<45909<45990<45999 b) 45909<45990<45999<45090<45900
¢) 45999<45990<45900<45909<45990 d) 45999<45990<45909<45900<45090
Answer: (a)

49. What is the sum of CMVIIl and DXLV?
CMVIII 3R DXLV BT IRT R &2
a) 1453 b) 1560 c) 1455 d) 1553

Answer: (a)
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Explanation: CMVII|
(1000 - 100) + 8 =908
DXLV

500 + (50 —10) + 5 =545

Sum/ J1T = 908 + 545 = 1453

50. If the product of two fractions is 15/14. If one of the fractions is 3/7, then what is the other
fraction?

gfe 3t Al ST UFwa 15/14 B 1 AR ST A tar U 3/7 8, A gt Ria s &2
a)7/4 b) 12/7 c)5/7 d) 5/2

Answer: (d)

Explanation: Let the number be a,

3 15
xa==
7 14

_ 15 7

= X -
14 3
5

2

a

a

AT ICATa g,
3 15
-Xa==
7 14
15 7
a=—X-=
14 3
5

2

a

SUBJECT - ‘B’ : ENGLISH

Read the passage carefully and answer the questions (51 - 55):

Last Saturday, Emily and her family visited the city zoo. Emily was very excited because it was her first
time seeing so many different animals in one place. As soon as they entered the zoo, Emily ran towards
the lion's enclosure. She had always wanted to see a lion up close. The lion was majestic, with a golden
mane and a powerful roar that echoed through the zoo.

Next, they visited the monkey area. The monkeys were very playful, swinging from tree to tree and
making funny faces. Emily's little brother, Jack, loved the monkeys and couldn't stop laughing. They also
saw zebras, giraffes, and elephants. The giraffes were so tall that they could easily reach the leaves on
the highest branches of the trees. After seeing all the animals, Emily and her family had a picnic near the
duck pond. The ducks were swimming gracefully, and some even came close to their picnic blanket,
hoping to get some crumbs. Emily fed the ducks some bread, and they quacked happily.

Before leaving the zoo, they visited the souvenir shop. Emily bought a stuffed lion as a reminder of her
www.wedacareer.com
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wonderful day. As they drove home, Emily couldn't stop talking about all the amazing animals she had
seen. She was already looking forward to their next trip to the zoo.

51. Why was Emily excited about visiting the zoo?

a) She wanted to buy a stuffed lion.

b) It was her first time seeing so many different animals.
c) She loved having picnics near duck ponds.

d) She wanted to feed the ducks.

Answer: (b)

52. What did Jack love about the zoo?

a) The majestic lion b) The playful monkeys
c) The tall giraffes d) The swimming ducks
Answer: (b)

53. What did Emily and her family do after seeing all the animals?

a) They visited the souvenir shop. b) They ran towards the lion's enclosure.
¢) They had a picnic near the duck pond. d) They fed the giraffes.
Answer: (c)

54. What did Emily buy at the souvenir shop?

a) A stuffed monkey b) A stuffed lion
c) A giraffe toy d) A duck figurine
Answer: (b)

55. Which of the following is an antonym for the word "majestic" as used in the passage?
a) Ordinary b) Impressive c) Regal d) Grand

Answer: (a)

Directions (56 - 58): Rearrange the following words/phrases to make meaningful sentences. Choose
the correct sequence

56. Has / become / technology / advanced / very

a) Technology very has become advanced. b) Very technology has become advanced.
c¢) Technology has become very advanced. d) Become technology advanced very has.
Answer: (c)
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57. Running / marathon / the / athletes / the / are / in
a) The athletes are running in the marathon.

b) Marathon the athletes are in running.

c¢) Running are the marathon in athletes.

d) The in athletes marathon running are.

Answer: (a)

58. Give one word substitution for a group of lions?

a) Pride b) Animal c) Aviary d) Nestle

Answer: (a)

Fill in the blanks with the appropriate option.

59. She is interested learning new languages.
a)on b) of c)in d) by
Answer: (c)

Fill in the blanks with the appropriate option.

60. He is responsible managing the project.
a) for b) of c)in d) on
Answer: (a)

Select the correct article.
61. Mount Everest is the highest mountain in the world.
a)A b) An c) The d) none

Answer: (d)

Write the correct form of the verb.

62. The dog at the sweeper every morning.
a) bark b) barks c) barking d) barked
Answer: (b)

Explanation:
The sentence is in the present tense, and "the dog" is a third-person singular subject, so the verb should
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be "barks.
63. We should cancel our trip. Here the underlined word can be replaced by —
a) allow b) abandon c) create d) none

Answer: (b)
Explanation: (b) Abandon will be the synonym for cancel here.

64. The correctly spelt word is -
a) erasar b) iraser c) eraser d) erasor

Answer: (c)

65. Identify the tense of the following sentence:
I saw him there yesterday.

a) Present Indefinite b) Simple Past Tense
c) Simple Present Tense d) Present Perfect Tense

Answer: (b)

Explanation:

The tense of the sentence "l saw him there yesterday" is (b) Simple Past Tense. This tense refers to
actions completed in the past. ("l saw him there yesterday.") This is the most fitting tense as the action
of seeing him happened and is complete in relation to the present moment.

"I see him there every day." will be Present Indefinite (Simple Present) this tense refers to habits or
actions that happen regularly in the present.

66. Identify the part of speech for “diligent" from the given sentence.
The diligent student completed her assignment early.

a) Verb b) Noun c) Pronoun d) Adjective

Answer: (d)

Explanation:
Diligent is an adjective. Diligent describes the quality of student and appears before the noun student.

67. Fill in the blank with suitable question tag-
You live with him, ............cccuceuuunen.e. ?

a) doyou b) don't you ¢) didn't you d) does you

Answer: (b)

Explanation: The main clause "You live with him" is a positive statement.
Question tags are used to check if the listener agrees with the statement.
To create a question tag that confirms a positive statement, we use the auxiliary verb from the main
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clause (in this case, "live") in its negative form ("don't") and add the pronoun ("you").
Therefore, "don't you" is the grammatically correct and the correct question tag to confirm the
information in the statement.

68. Fill in the blank with correct word: "The chef added a pinch of to the soup."
a) flour b) flower c) flours d) flowers

Answer: (a)

Explanation: (a) flour

Flour is a powder made by grinding raw grains, used in cooking and baking.
Flower is the reproductive part of a plant.

Flowers is the plural form of flower, which does not fit the context of cooking.

69. Choose the correct meaning of - Hold one's horses:

a) Keep one's expectations b) Keep one's gift
c) Have patience d) High on energy

Answer: (c)

70. Choose the word opposite in meaning from the given option:
Ruthless

a) Majestic b) Merciful c) Grief d) Pity

Answer: (b)

Explanation:

'Ruthless' is an adjective which means 'merciless, cruel, unforgiving'

Option b - 'Merciful' is an adjective which means 'forgiving, sympathetic, compassionate'. This is
opposite of the meaning of the given word 'Ruthless'.

On the other hand, Option A - 'Majestic' is an adjective which means 'awesome, dignified, sublime’,
Option d - 'Pity' is an adjective which means 'sorrow, sadness, distress', Option c - 'Grief' is a noun which
means 'pain, agony, distress'.

71. Choose the correct imperative sentence.

a) What a delicious mango this is! b) We watched TV last night.
c) Have you completed your work? d) Sit down and finish your homework fast.

Answer: (d)

72. Do as directed:- All you need is love. Identify the kind of Noun

a) love is a proper noun b) love is an abstract noun
c) love is a collective noun d) love is a common noun
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Answer: (b)

Explanation: (b) option is correct. Love is an abstract noun. Abstract nouns refer to concepts or feelings
that cannot be experienced concretely or touched physically.

73. Fill in the blank with a suitable adverb. We were considering selling the house.
a) heavily b) seriously c) brightly d) fully

Answer: (b)

74. Fill in the blanks: Neither Ram ____ Shyam arrived.

a) or b) and c) nor d) the

Answer: (c)
Explanation: Neither ------------ nor
Either ------------- or

75. Identify the type of Pronoun - The bag which he gave to me is lost.

a) Possessive Pronoun b) Reflexive Pronoun
c) Personal Pronoun d) Relative Pronoun

Answer: (d)

SUBJECT - ‘C’ : GENERAL KNOWLEDGE

76. Who wrote our National song?

TART ISy AT fraa forar?

a) Bipin Chandra Pal b) Swami Dayanad Saraswati
c) Bankim Chandra Chatterjee d) Rabindranath Tagore

a) et gg qrer b) TATHT & Teig, TETAT

c) SThH Tg TSl d) IdigaATyr &%

Answer: (c)

Explanation: Bankim Chandra Chatterjee wrote the national song of India ‘Vande Mataram’. It is a poem
written in Sanskrit.

dferar i Tesll o SR &1 Uiy 3l ae AT forarn| a8 @& 7 fordt 718 wiaar g
77. The oldest Veda in the world is?
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freg &1 gaQ yrdieT ag FlT ATE?

a) Sama Veda b) Yajur Veda

c) Rig Veda d) Atharva Veda
a) 9THdG b) TSI

¢) FIdG d) 31Uddg
Answer: (c)

Explanation: Rig Veda is the oldest text in the world and therefore it is known as ‘the first testament of
mankind’.

Fade 3T FT I U= I+ § 3K saforw sq '\ea Sifa &1 92s a8=Id=mET Sgr Sar g |

78. First Individual Olympic medal winner from Independent India is?

TIAT AR FT UgdT ST TFdId ek UG RAstar Hia 2

a) Rajyavardan Singh rathore b) K.D. Jadhav

c) Abhinav Bindra d) Neeraj Chopra
a) T=gay &g el b) Y ST

c) 31T fogr d) SISt AgST
Answer: (b)

Explanation: K.D. Jadhav, after winning a bronze medal in wrestling at the 1952 Helsinki Olympics,
became the first Individual Olympic Medal winner from Independent India. However, the first individual
Olympic medal was won by Abhinav Bindra.

1952 & golfieh! 3cifieh & el & T Ueeh Siiclel o dTe; hal SITLd Facd R & Tgol afecard
3T Uk faaiar §o7| gTlTfeh, UgelT e TFdaTd 3eiTieh Ueeh 3fAaTa fagr & Sirar am|

79. Who among the following is the Supreme Commander of Indian Armed Forces?

Arafaf@a 7 ¥ s g Q131 F1 Fafea FATST FIT 8?2

a) President of India b) Vice President of India
c) Defence Minister of India d) Finance Minister of India
a) ¥R & TSCATT b) ¥R & IWTseufd

¢) ¥R o L& HAT d) 9IRd & faa &4
Answer: (a)
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Explanation: The president is the Supreme Commander of the Indian Armed Forces. The Indian Armed
Forces comprises three divisions i.e. Indian Army, Indian Navy and Indian Air Force.

TSI HRATT AT Tl oh Fared HHAS ¢ | ARCAT TUET Joll H el [3drelel eMfAe & 37Td
AT el JeT, HRAY AT 3R SR arg AT |

80. The motto of the Indian Air Force is:

AT a1 {aT 7 e e AT 8

a) Nabha: Sparsha Diptam b) Sarvatra Sarvottama Suraksha
c) Valour and Wisdom d) Touch the sky with glory

a) A9 T Erede b) A Haifera FI&T

¢) AR 3R e feraar d) I1Re o AT AT T Gl
Answer: (d)

Explanation: The motto of Indian Navy — May the Lord of the Water be auspicious unto us
The motto of Indian Army — Service before self
The motto of Indian Airforce — Touch the sky with glory

TR AT T 37TELT a1 — 27 AT THUT
HRAT YAl T TGS a1 - " Flaw [§BN det (Faqd Har)

AR AT VAT T TG AT — 78T T dreas

81. Who is the present Chief of Indian Army?

HRET AT & TIATT 7@ Fi §2

a) Gen.Upendra Dwivedi b) Gen.Manoj Pande c) Gen.Anil Chauhan  d) Gen.A.K.Singh

a) STl 3Usg Gladd! b) TeRAAANTUE  ¢) okl A g d) SRl T.h.Rg

Answer: (a)
82. is the highest peak of Africa.
3T Y e S DA R
a) Mt. Everest b) Mt. Denali c) Mt. Kamet d) Mt.Kilimanjaro
a) AT3C TaEC b) AT3C ST ¢) AT3T HTAC d) Ar3e fRfaHAaRY
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Answer: (d)

Explanation: Situated in Northern Tanzania close to the Kenya border, Mt.Kilimanjaro — also known as
‘the roof of Africa’. The height of Mt.Kilimanjaro is 5895m.

FHgT AT & P 3 dollaaT H AT §, A3 HIAHARY - 13701 1 &' & & H 4 ST ST
2| A3e fRfOHEERY & Far$ 5895 #eX ¥

83. The Taj Mahal is located on the banks of which of the following rivers of India?

ATeHEd 9Rd A AARR@T A A FT AN F de R YT

a) Ganga b) Yamuna c) Godavari d) Cauvery
a) 39T b) FAT SEUCER] d) Fradr
Answer: (b)

Explanation:

e The Yamuna is the largest tributary of the Ganges.

e It comes from the Yamunotri Glacier at Bandarpunch Peak, Uttarakhand.

e It crosses Haryana and parts of Uttar Pradesh, and after that, it touches Uttarakhand and Delhi, and
joins Chambal, which is the longest tributary with its own large basin.

o  THAT I T HIY ST HGIAeh 713 6.

o g ITNIWS & deIYD AT R & THAR TR A 31T gl

o T RN 3N 3R YU & F© GEAT b1 IR el 8, 3 38 a1e ITEs 3R ool Hr gl 8,
3R TgFae A e ST &, S 379 93 9f 8T & G G998 el G 44 ¢ |

84. Which one of the following is not a draught animal?

farafaf@a & & w7 a1 v sRaETe e 78 82

a) OX b) Donkey c) Horse d) Sheep
a) et b) 3T c) T d) 3
Answer: (d)

Explanation: Sheep is not a draught animal. Elephant, camel, horse, ox and donkeys are included in the
category of draught animals also known as pack animals. These animals are used in agriculture and for
transport purposes.

A3 Teh RATg U] 81 & | BT, 3c, ENST, Sl 3R a7er HRaTgeh g3t T Aol & 317 § fSeg Jep g
&1 &g ST & | 3T STTTaRT T 3TN HY 3R TRaget 3egedi & fav frar srar g |
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85. Blue Revolution is related to which of the following?

el wify PR A ¥ Fad aeafa

a) Fish production b) Edible oil production
c) Milk production d) Jute production

a) HSell 3c9TGeT b) WIET del 3cdTee

¢) qY 3cqreed d) SIC 3c4TEsd
Answer: (a)

Explanation:

e Green Revolution — Food grains (rice and wheat)
e Grey Revolution — Fertilizers production

e White Revolution — Milk production

e Red Revolution — Meat or tomato production

e Golden fiber Revolution — Jute production

e Silver Revolution — Egg/ poultry production

e Black Revolution — Petroleum production

e Blue Revolution — Fish production

o &RAHIfd - GregTe (ardaer 3R )
o S TICH — 36k ScUTeeT

o &I - Y IcuTeed

o I Il - ATH AT THTC IeUTced
o TITOTH WATFHIT - S Sedreat

o TSI Spifel — 37ST/#elT ScureeT

o TTCl ST — ACITOIIH ScuTeet

o ATOl ShITc — HSOI 3cUTGsT

86. Which of the following is not a mosquito borne diseases?

R d sl A aRadaradi

a) Malaria b) Dengue Fever c) Sleeping sickness
a) AT b) SIFER ¢) T e
Answer: (c)

d) Filariasis

d) BrSaRT

Explanation: Sleeping Sickness is not a mosquito-borne disease. It is a tropical disease, which is caused
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by trypanosomes, a parasitic protozoan. It is transmitted by the bite of the tsetse fly.

e o1 AR Sfad AR A8T §1 T U IUehieadT SR §, S ST amee aieidr
ICISII3T o SROT &Il ¢ | T el AFET oh FIca A el o |

87. Which is the largest gland in human body?

AT IR F TR TN AT Fla @ g

a) Pituitary gland b) Liver c) Stomach d) Lungs
a) eyl 7l b) I c)9¢ d) 3
Answer: (b)

Explanation: The pituitary gland or hypophysis is the smallest gland in the human body. The pancreas is
the largest endocrine gland in the body. The liver is the largest gland in the human body. It is also the
largest (internal) organ in our body.

Regedy 32 a1 e RRAT Alda AR i Tew B1 I | Ay R A T 92 3T A
T B Fehc Al IR A 951 A B Tg §AR AR 7 G 13T (3T Rep) 37T 87T B

88. Which of the following is a non-communicable disease?

fff@a #& sl ariaaiar

a) Measles b) Cancer c) Malaria d) Tuberculosis
a) &I b) ¢) FATRAT d) &7 T
Answer: (b)

Explanation: Communicable diseases — HIV/AIDS, viral hepatitis, sexually transmitted infections,
Dengue, Corona virus, etc.
Non-communicable diseases — heart disease, stroke, Cancer, Diabetes and Chronic Lungs diseases

TR 97 - T3S/ TS, TRR gUCTSied, Al FenRel HehvT, $37, HRIAT IR, 31|

89. Which is the highest mountain peak of Himalaya in India?

R # AT F 798 Fdt qaa A FlT A R

a) Nanda Devi b) Bandarpunch c) Kanchenjunga d) K2
a) sigr¢dr YECE] c) AT d) 32
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Answer: (c)

Explanation:
e Nanda Devi— 7816 m (Uttarakhand)

e K2 (Godwin Austin) — 8611 m (POK)
e Kanchenjunga — 8586 m (Sikkim)
e Bandarpunch —6316 m (Uttarakhand)

o FAcTdr- 7816 HeX (3TTWS)

o K2 (AMsTae 3iif¥esT) — 8611 FHreX (POK)
o HUASIIN - 8586 HIeX (FAfFh#)

o FEYD - 6316 HIeY (3TNTES)

90. Where is Nalanda University situated?

a) Sikkim b) Gujarat c¢) Uttar Pradesh d) Bihar
a) fafeas b) ISR ¢) 3T TG d) ¥R

Answer: (d)

Explanation: Nalanda was the world's first residential university, accommodating over 10,000 students
and 2,000 teachers, and was a major center for Buddhist studies as well as subjects like astronomy,

medicine, logic, and mathematics.427 CE # sITeicl gﬁl’«’:ﬁ H Ygell AT faRafaearer o,
foraa 10,000 & 3fOs o 3R 2,000 Rew A, IR ey 3vwwad & TU-AY @I
famret, Tfehcar, & 3R A0 S/ AVl &1 Th GHE e ol

91. Earth rotates along direction.

e Rend gy

a) East to West b) South to North c¢) North to South d) West to East
a) qd O uiREH b) &f&ToT & 3R ¢) 3R H GfaroT d) TREIF A g

Answer: (d)

Explanation: Earth rotates on its axis from west to east. This rotation causes the Sun, Moon, and other
celestial objects to appear to move across the sky from east to west.

The Earth's rotation also causes day and night. The Earth's rotation divides the Earth into a lit-up half
and a dark half.

The Earth's rotation is counterclockwise when viewed from the North Pole, and clockwise when viewed
from the South Pole.
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The Earth's rotation continues due to inertia, which is an object's resistance to changes in its current
state of motion.

g 37el 8 o) IfREH & qd T 3T gA §1 39 goid & FHROT g, I6AT 3R 3w waiely s
3TeRTRT 1 G A IIRe T R G §U il g1t €1

e & e @ o7 Rt 3R Tl @1 &1 G2l T ot Gl BT GTRIeT 3 3 3% 3 3 R
HIATE

3 T | SWe R AT 7 guie T 3R afarol ¢a & dwet R afaronad g 5|

qedT T gUTH 5ca & HROT TR 16l &, Sif TR &g T a1t T g et 3 aiade & ufa
EISREES

92. ‘Tarapur’ nuclear power plant is located in the state of?

ARTYT THATY] St 4 v T o Reua e

a) Maharashtra b) Gujarat c) U.P. d) Tamil Nadu
a) AGRTSE b) I[RT c) U.P. d) dfAeTATg
Answer: (a)

Explanation:

e Kakrapar atomic power station — Tamil Nadu

e Narora atomic power station — U.P.

e Kaiga atomic power station — Karnataka

e Rawat Bhata atomic power station — Rajasthan
e Tarapur atomic power station — Maharashtra

e Kudankulam atomic power station — Tamil Nadu

o  FHIHIUR WA Soll T2 — ATHAAATS
o IR ORAT] Fott T — 3e Ferer

o  ShaT YTATY] sl T — Feliceh

o A T AT FsiT TUT — JSTEATA
o TRIY YTATY] Foil FEUeT - HERTSE

o  FSAFHEH AT Fil T - ATRIATZ

93. Where is the Ozone layer present?

HSter I Fel Al 82

a) Mesosphere b) thermosphere c) Stratosphere d) Troposphere
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a) AATHRT b) TAfEARR ¢) GHAT HS oA d) &NaTHs

Answer: (c)

Explanation: Most Ozone (about 90 %) is found in the Stratosphere, which begins about 10-16
kilometers above Earth’s surface.

5 layers of the Atmosphere in order:

e Troposphere

e Stratosphere
e Mesosphere
e Thermosphere

Exosphere
&rfﬂmeh\—rﬁ:r (TTHT 90%) THATT Hed & UTS Sl &, St Jedl ®I Helg I AT 10-16 fhadiex
SR YF A5l
a@q@'aaﬁsqv?fm
&y Had
o gAY HSd
. HHAHSA
o dUHSA
. dfgdsa

94. Which state among the following has adopted Sanskrit as its one of the official languages?

Frafafaa d 3 fra v 3 dvpd ot sru- it WTwT & U § Sfu=mn 82

a) Uttar Pradesh b) Jharkhand c¢) Uttarakhand d) Punjab
a) SR Ul b) IRES ¢) SRS SREIE]
Answer: (c)

Explanation: The state of Uttarakhand has become the first state in India to declare Sanskrit as an
official language. In 2019, Himachal Pradesh became the second state to have Sanskrit as the second
official language.

STRIGS AT Wpd ! SSRGS T YT B T HRA BT Ul Isd & T g1 2019 H,
ferTad UG TP d DI GO SHTIBTRE TN S a1l GERT ST & 74T

95. The Brain fever which affects young children is
Bie Tl B YUTFAd HR- areT AfeTsd wav gl

a) Malaria b) Tuberculosis c) Typhoid d) Encephalitis

a) Hafar b) &7 IAT CELIES] d) Ay
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Answer: (d)

Explanation: Encephalitis is a brain fever that affects young children. It causes inflammation of the
membranes that surround the brain and spinal cord.

TABATEY T AT SR § S B¢ = &l UHIfAd Bl 81 I8 ik 3R J¢ 3l 831 & IR
3R ) AT & Go HT RO SaT |

96. The first Indian to get the Oscar Award was .

TP RIPR UM 918 g HRAT i A2

a) Raj Kapoor b) Bhanu Athaiya ¢) V.S. Naipaue d) Minir sen
a) XSl P b) HT 32T c) dh.u9. Argur d) IR =
Answer: (b)

Explanation: Bhanu Athaiya became the first Indian to win an Academy Award in 1983 for designing the
costumes for the movie Gandhi.

YT 31T 1983 H flhed it & forg a=TywT fEoe & & U sfeTetl REHR Siia- arell ugal!
R &t |

97. Which river of India is known as ‘Sorrow of Bengal’?

YR 1 B A A1 Sed BT MNP S ATH F AT AT 82

a) Ganga b) Yamuna c) Damodar d) Hoogly
a) T b) I ¢) QMG d) giTelt
Answer: (c)

Explanation: River Damodar is known as ‘Bengal’s Sorrow’ because of its ravaging floods in the plains of
West Bengal. ‘Sorrow of Bihar’ is in Kosi.

AR et Bl UFYH Sd & Tl AT # 3 arelt faRIeRY 91¢ & RO ‘ST &7 M gl
ST 8 | foER &1 e BIRA A R

98. The crops which are sown in summer season called?

Wi g & A5 9F 9Tel U &I FT Hed 82

a) Kharif b) Zaid c) Cash d) Rabi
a) TI® b) TG ¢) TPhe d) T&t
Answer: (b)

Explanation: Zaid crops are mainly grown in the summer season from March to June.
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e Rabi crops — wheat, barley, oats, gram, mustard, linseed. Kharif crops- rice, maize, millet, ragi,
pulses, soybean, groundnut.
e Kharif crops - rice, maize, millet, sugarcane, ragi, pulses, soybean, groundnut, etc

SIIE, o1 thd g U 9 T & A 7 A1l § 57 aeb SIS ol |

. & B - TE, O, 518, T, IR, SRR - Iad, AT, SoRT, I, grel, e,
BNl

o GG B - T, HIDBT, STORT, T4, IFT, ST, WTEE, e, ake

99. Which is the largest tribal group of India?

YR BT TG TST ST THE P 91 8?

a) Bhil b) Gond c) Gurjar d) Santhal
a) Hid b) TS ¢) ToR d) AT

Answer: (a)

Explanation: The Bhil tribe's population in 2011 was 17 million people. In some states, the Bhil
population was:
e Madhya Pradesh: 4,618,068, making up 37.7% of the state's total Scheduled Tribal (ST)
population
e Gujarat: 42.70 lakhs, making up 47.89% of the state's ST population
e Rajasthan: 4,100,264
e Tripura: 3,105

2011 & #fier Sifortal T STeraear 17 Afoas O $o Tsat & fia seaear O

ALT YSA: 4,618,068, 5 T T Fel AT SIS (THS) SIS HT 37.7% &l
TORI: 42.70 oG, ST Ao HhT THEN STE T 47.89% &

o TSEUE: 4,100,264

. ﬁgTr: 3,105
100. The study of Moon is called?
YGHT & T B T HgT o1l 82
a) Selenology b) Cosmology c) Planetology d) Pedagogy
JRKREISIN] b) SO o= o) 7% fagr d) e

Answer: (a)

Explanation: The study of Moon is called Selenology. Gravitational pull of the Moon is about 1/6™ of the
Earth and it takes 1.3 seconds for light to reach the Earth from the moon.
Cosmology — The scientific study of the large-scale properties of the Universe as a whole.
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AGHT & 3T DI Ja-Iarel Bl Al & | IGAT BT TeQAIHYU RaTd Gedl BT AT 1/641 fewa 8
3R UHIR DI IGHT Y Pod! dP Uga- | 1.3 Y S &1 9Hg Al ¢ |
SEIUS 37T - vl SRS & o' YA & 07 BT a1 ST |

SUBJECT - ‘D’ : INTELLIGENCE

101. Find the missing term: 1800, 1760, 1720, 1680, ?
W UG [T DITOTT: 1800, 1760, 1720, 1680, ?
a) 1640 b) 1620 ¢) 1630 d) 1650

Answer: (a)
Explanation: 1800 -40 = 1760 -40 = 1720 -40 = 1680-40 = 1640

102. Find the missing term:1, 4, 9, 16, 25, 36?
ol Ug F1d B3: 1, 4, 9, 16, 25, 362
a) 64 b) 49 c) 81 d) 121

Answer: (b)
Explanation: 12, 22, 3%, 4%, 5%, 6%, 7%

103. ‘A’ is B’s father but B is not A’s son. Who is B?

‘A, B BT AT AfbT8, ABTTITE B 1 B B2

a) Daughter b) cousin c) daughter-in-law d) wife
a) 9 b) TR HTS ) S8 d) gat
Answer: (a)

Explanation: B is daughter of A.

B, A®I A |

104. The man is related to house in the same way the bird related to-

forg U smeH! TR @ Faftd g 3t uer vl frua ddfia g

a) cave b) nest c) tent d) water
a) W1 b) Tiger c) T, d) arit
Answer: (b)

Explanation: The man lives in the house. The bird lives in the nest.
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it R AT 3| Fafsar diga A ed g

105. Complete the following analogy: Flood : drought:: genius: ?

Frafafeq aewa @ 91¢ : g ufaur: 2

a) Foolish b) Intelligence c) Think d) cruel
a) ™ b) gfs ¢) ST d)@x
Answer: (a)

Explanation: In each pair, both the words are antonyms of each other.

TS Site! # g Ueg Udh gUR & A g

106. Complete the series: MM, NN, OO, PP, ?
T YUl B+: MM, NN, 00, PP, ?
a)QQ b) RR c) DD d) SS

Answer: (a)
Explanation: MM +1=NN+1=00+1=PP +1=QQ

107. In a queue Shashank is 7t" from the either end. How many boys are in the queue?
TS FaR W RH G BR A 78 VM W 3| FaR § faa dsd 82
a) 12 b) 14 c)13 d) 15

Answer: (c)
Explanation: Number of boys in a queue = 7+7-1 =13

HAR H ASH| D YW = 7+7-1 =13
108. At the time of sun set Rishika is facing north. Her shadow will be towards-

U & UG BB IR B 31T 4 $IP T3 8| P! ST 59 i grft

a) South b) North c) East d) West
a) af&for b) IR o d) ufEm
Answer: (c)

Explanation: At the time of sun set, the shadow of an object is always in the east.

TPIHIOT: TR & JHY foret 9 1 ST Ted Id H Usdl 8l
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109. Choose the word which least like the other words in the group.

I8 TIsg T ol TYE P 3T W] | T HH fraar Jaan gl

a) PEEL b) FRY c) BAKE d) ROAST
a) BT b) T ¢) Yapr d) Y=
Answer: (a)

Explanation: Except ‘peel’ all requires heating.

BT DI SISHR d1p! TH BT TH B D1 3MIIHdl gl g
110. which of the following diagram indicates the best relation between flower, lily, jasmine

fPrufufad & @ o9 91 oM B, Rreh, 98 & Sia vaw o1 9y gufars

a) b)

(9 0
T O00 T am
Answer: (a)

111. If ‘A’ means add, ‘B’ means ‘subtract’, ‘C’ means multiply and ‘d’ means divide, then what would
be the answer of the equation?

afe 'a' &1 3 Sism, B BT 3 ger T, ‘¢ &1 3 un FRAT 3R o BT 3 YR AR, @
HHI BT BT IR T ENT?

20D4C2A4
a) 12 b) 14 c) 18 d)17

Answer: (b)

Explanation: 20 + 4 x 2 + 4 (according to question)
(20/4)x2+4=5x2+4=14

112. If CATTLE is related to HERD then LION is related to : CATTLE: HERD :: LION : ?
a) SWORM b) FLOCK c) MOB d) PRIDE
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a) dH b) FS c) Hre d) uiss

Answer: (d)
Explanation: A group of cattle is called nerd. Similarly, a group of Lion is called pride.

HATRMAT & U Bl S Hed & | 53 78 W & HE I U1gS Hed 8|

113. If in a certain code DEAF is written as 3587 and FILE is written as 7465 then IDEAL will be written

as?

gfe foredt fAfira o1e o DeEAF DY 3587 3R FILE B 7465 for@T WITdT @ oY IDEAL B fh TR fora
SITET?

a) 43586 b) 63548 c) 43568 d) 48536

Answer: (a)

Explanation: D=3,E=5,A=8,F=7

F=7,1=4,L=6,E=5

So,1=4,D=3,E=5,A=8,L=6

114. Choose the correct alternative that has the same relation to EPV as BMJ is to EPM

el fasweu g foraeT epv A 98t TSU 3 S BMI PTEPM T B

BMJ : EPM :: EPV :?

a) DNM b) HSY c) HSW d) GTV
Answer: (b)

Explanation:

E+3=H B+3=E

P+3=S M+3 =P

V+3=Y J+3 =M

115. Find the missing term: 15: 225 :: 21: ?
YW UG [T PHOTC: 15: 225:: 21: ?
a) 441 b) 421 c) 431 d) 451

Answer: (a)

Explanation: Square of 15 is 225
Similarly, square of 21 is 441.

15T g 225§
s YR, 21 ST IT 441 &
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116. If in a certain code BRL is coded as DTN then MBS will be coded as?

gfe foedt fAfira Y # BrL &Y DTN foraT SITdT 2 ot mBs P fFd U R forar smemm?

a) OCU b) ODU c) OEV d) ODN
Answer: (b)
Explanation: B+2 =D M+2=0

R+2=T B+2=D

L+2=N S+2=U

117. If x stands for addition, = stands for subtraction then 4 x 8+~ 5="7?

g xpr A8, xPTAFgeTE ANax8+-5=2
a)4 b) 8 c)5 d) 7

Answer: (d)

Explanation: 4 x8 = 5
Changing sign,4+8—-5=7
4x8+5

fgdea W, 4+8-5=7
118. In a certain code ARTICLE is coded as ATRCILE. How is PICTURE coded in that code?

T AIf3a &S # ARTICLE BT ATRCILE for@T STaT 81 St B8 # picTURE &) 5T YR ferar
SITET?

a) PIERTUC b) CIPTURE c) PRTIEUC d) PCIUTRE

Answer: (d)

Explanation:

ARTICLE

v M X vy
ATRCILE

Similarly, PICTURE = PCIUTRE
231 UHR, PICTURE = PCIUTRE

119. Choose the OPTION which is different from the rest

9% R g S 9 A 3T @
a) Pencil b) plate c) book d) pen
a) U@ b) &I ) TP d) HaH
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Answer: (b)
Explanation: Except plate all are stationary items.

e B! DeH Tl R a5qu 8|
120. Two positions of a dice are shown below. If 1 is at the top what number will be at the bottom?

1 v U 1 €1 fRAfAaT gafs wE §1 af 1 Te SR & d wed 2 i ot Se anfe

a)2 b) 3 c)5

Answer: (c)

d)6

Explanation: When both 6 and 4 are in same position in the cubes, 5 should be opposite to 1.
ST H 6 3R 4 31 U &1 RUTT A &Y, At 5, 1 & famsia g aneal

121. Find missing number?

o =T [T B ?

12 18 30 16 32 40 36 18 27

R\,

6 8 ?
a) 18 b) 6 )9 d) 12

Answer: (c)
Explanation:

a b c
\|/
X
X=H.C.F.(a, b, c)
Required number = H.C.F. (36, 18, 27) =9

3rHIF W1 = HCF (36, 18,27) =9

122. How many rectangles are there in the given figure?

3t 713 epfa o foram smaa &2
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a)4 b) 5 c)6 d)3

Answer: (b)
Explanation: There are 5 rectangles in the given figure.

ferav T & 5 3maa g
123. Choose the correct water image of the given question image from amongst the four alternative:

o v AR fawen § | few e wy foxr &1 98t o1a o g

\ srvrreroroereee Y
(@) ) («) (C4)
a) (a) b) (b) c) (c) d) (d)
Answer: (b)
124. -

a) (a) b) (b) c) (c) d) (d)

Answer: (a)
Explanation: In each step, the figure is rotated by 45° and 90°alternately.

YD IROUTH, MBI Bl I-TR F 450 3R 90° GHRT ST B |
125. Select one of the answer figures which replaces the mark of interrogation?

T g & VI TR 314 a1 SR TpTadl § A Th &1 997 B2
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a)(a)

Answer: (b)

Question Figures

Al e T

Answer Figures

@||=| |@

(@) (D] )

b) (b)

c) (c) d) (d)

Explanation: The outer element of the first figure is removed while the inner elements are shaded to
obtain the second figure.

Tgell SHIPTd & ST I DI gel e T § Sfafds GuRl SMdhid Ut &3 & Q1T MRk dal ol
Jifebd fbar T B |
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